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Note: (a)All questions are compulsory.

(b)Marks are indicated against each question in square brackets,
(c) The candidate is aliowed to make Suitable numeric assumptions wherever réqu 1t
solving problems

AN
QL. Do any two of following [1x2=2]CO1
a) Write any three abstract general objectives for which gepetj gineering is being
practiced. S, NG
b) Interpret and analyze why genetic engineering, recombinant BDNA technology and gene
cloning are used synonymously. &
¢) Give three discrete points which different ngineering from traditional
practices of crop or animal breed improvemq&g N
Q2. Do any two of following [2x2=4]CO1
a. Write about any three product ori plications of genetics which have been
commercialized, Q :
b. Discuss three advantages o 2 “of  recombinant therapeutic drugs? Give
examples to prove each argume}
¢. What is biopharming? ggjﬁ”ﬁt ¥Q &xamples of drugs that are approved to be produce by
via biopharming Y T
Q.3 kv o 2x2=4]COII
a. How Type I, 'I:ypé‘?‘lﬂlg}%and ype 1L restriction endonucleases are different from each
other? A
P TV Y
b. What i._'y'th‘%é”ﬁ' matic activity of alkaline phosphatase? Mention its single most
applig‘ﬁfﬁjg‘ _Tﬁln;(ﬁ’enetic engineering with the help of a suitable diagram. Why Shrimp
alkaline phosphatase is preferred.
LAY
& m
Q4. &’”*«Qa% f following question [5]COV
?\, c?“"‘g s‘\'\\%‘ .
;?f%j\fﬁte the pattern of symmetry found in Type II Restriction enzyme sites. Let a 6 bp site

“is represented by short notation 5’ C/TG. Write a complete double stranded site of

restriction enzymes and show the fragments that would be generated by the action of this
enzyme.

Diagrammatically show how a blunt ended DNA can be converted into cohesive ended
DNA with help of linkers. Write one limitation of linkers and two possible solutions to
obviate the problem.
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